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Podminky: x # —1
ReSeni: x, =0;x, =1

2)
(2x+ 3)(3x—4)—(5—4x)(5x+ 6) =10

6x° —8x+9x—12—(25x+30—20x2 —24x)=10
6x> +x—12-25x-30+20x> +24x =10
26x>—-52=0

26x* =52 /:26
x*=2
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ReSeni: x, = \/E;x2 SENG)
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¥’ =3x-40=0
D=b"~4ac=(-3) —4-1-(-40) =169
_—b+JD  —(-3)£169
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Xio
x =8
x, =-5

Podminky: x # 14
ReSeni: x, =8;x, =—5
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4x—-15 _2x+12
6x—-13 5x-12
(4x—15)(5x—12)—(2x+12)(6x—13) =8-(6x—13)(5x—12)

20x> —48x—75x+180—(12x2 —26x+72x—156) - 8(30x2 —72x—65x+156)

=8 /-(6x-13)(5x~12)

20x” —48x—75x+180—12x” +26x — 72x+156 = 240x” — 576 — 520x +1248
—232x* +927x-912=0
D=b’—4ac=927" —4-(-232)-(-912) =12993
. —b+y/D _-927++/12993
Y 24 2-(-232)
x =175
X, =2,24

Podminky: x # %; X # %

Reseni: x, =1,75;x, =2,24
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x, =0,37

/~5(2x—3)

Podminky: x # %

ReSeni: x, = 6,30;x, = 0,37
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~12x* =22x+159=0
D=b*—4ac=(-22) -4-(-12)-159=8116

_b+yD  —(-22)%B116
2T g 24(-12)
x, =-4,67
x, =2,84

Podminky: x # %

ReSeni: x, = —4,67;x, =2,84
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2
x25—x+11_§:0 /-7-(x2—7x+17)
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7-(x* =5x+11)=5(x* = 7x+17)=0
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2x*-8=0

x’=4

x =2
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Podminky: po dosazeni obé ¢isla vyhovuji.
ReSeni: x, =2;x, =-2
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3 3-2x
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3(x+5)—1-(3—2x):—2(x+5)(x—5)
3x+15-3+2x=-2(x" -25)
3x+15-3+2x=-2x"+50

2x* +5x-38=0
D=b—4ac=5"-4-2-(-38)=329

_—b+JD  -5+4/329

X

2 2a 2.2
x, =3,28
x, =-5,78

Podminky: x # £5
ReSeni: x, =3,28;x, =-5,78



